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3 g = wax x 3 g = wax
- Off A o Off A o Al TAH| | Off Ak oH Off Ak oH s ¢ T H|
(A) (B) (A-B) (A) (B) (A-B)
Mt O| At=|H|
48,913 520,594 |  A471,681 3.9% 18,400 18,400 0 1.5%
01) 01)
e A2 H
62,494 62,494 0 5.0% 5,337 8,637 A3,300 0.5%
(02) (02)
dEEESS IEFELT
1,124,072 644,072 480,000 90.3% 8,088 8,088 0 0.6%
(03) (03)
RKEA Ol XI_-I = g-
sTE 9,164 4,937 4,227 0.8% = 1,168,985 | 1,168,769 216 93.9%
(04) (04)
xR =
g Xl g 27,617 27317 300 22%
(05)
of H| H
16,216 886 15,330 1.3%
(06)
A 1,244,643 | 1,232,097 12,546  100.0% A 1,244,643 | 1,232,097 12,546  100.0%
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) (SH : M9
O T T e R G
Off Aol Off Atk Er
X Ak 48,913 520,594| 471,681
1. 7| 2R At 48,913 48,594 319
R 200 0 200/ (:;l%;tfﬂiigiﬁ T;;?O’OOO%”E: 200,000
2. Yor=¢d 219 100 119|1. d&= (=)0 Zh 119,0008 x12|= 119,000
3. 6| 20"t 16,151 16,151 0
4. 7|Ef=¢ 32,343 32,343 0
XHAtOH 2t 4= 0 472,000)  A472,000
1. 7| EFXA A .
o2t 0 472,000]  A472,0001. +=A4E7|2Mth(HAF) M2 -472,000,0008 x 1= 472,000,000
3 62,494 62,494 0
HHEEOIES 62,494 62,494 0
1. MEEYo3 62,494 62,494 0
F e 1,124,072 644,072 480,000
e e 1,124,072 644,072 480,000
1.7 83 1,124,072 644,072 480,000(1. @At 7| 23 (Sul2 FH|3,4X}) 480,000,0008 x 1= 480,000,000
+= ¢ 9,164 4,937 4,227
1. 8= Ol A} 738 926 ~188
1470 20| Xt 0 188 A188(1. 7|0 Z0|Xt +=¢ -188,000% x 1 A188,000
2. 7|EL0) 30| Rk 738 738 0
B d 8,426 4,011 4,415
1. &= 8,426 4,011 4,415(1. 201738t d = st HOlN| 233 1960008 x1d = 196,000
L20178t A St X|HWASM 53 19,000 x1H = 19,000
ZOojQl n8E2F 4,200,0008 x1E 4,200,000
2A(1~3) = 4,415,000
oA 1,244,643 1,232,097 12,546
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(M 2) (Tl H )
B = = 2 ) &= 1 Ha ME 7 (E Y
Of| Akt Off Atk YA
1. O| Af2|H]| 18,400 18,400 0
1. O[AZ|H| 18,400 18,400 0
1. e 15,050 15,050 0
2. 2| o H 3,350 3,350 0
2. AF 2 H| 5,337 8,637 A3,300
1.2l A H 800 800 0
1.0 H 800 800 0
1.5 & H 4,537 7,837 A3,300
1. 424 M| 4,537 7,837 -3300|1. A2 =2 (AAL-R HE §) -3,300,000¥ x 18 = £3,300,000
3. T k=] 8,088 8,088 0
1. &R X H| 150 150 0
2. ZMEHZ 7,938 7,938 0
AMEZ 1,168,985 1,168,769 216
1.8 3 1,168,985 1,168,769 216
1.8t ™EZ|  1,168985 1,168,769 216(1. 201782 st g BOIM a3 196,0002 x1H= 196,000
2.2017€HHE S E X|LASM 253 20,000 x1H= 20,000
2A4(1+2) = 216,000
5. X & 27,617 27,317 300
1.8 X = 27,617 27,317 300
1.243 3,015 3,015 0
2.2 5 H 10,000 10,000 0
3. 7|EtHIX| & 14,602 14,302 300|1. RYEAL St 300,000 x1H = 300,000
6. 0f H] H| 16,216 886 15,330
1. Of| H] b 16,216 886 15,330
1. 0ff H] Hj 16,216 886 15,330 1. Of|H[H| 1,5330,000% x 11l = 15,330,000
MEA 1,244,643 1,232,097 12,546




